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TR205EE TREE T2 FR23ERE FR24ERE FR25ERE
FOB/M €% (M) % €% (M) % £% (M) % £%5 (M) 5 £%5 (M) % €% (M) 3
Vb ahiEREE 75,000 5 of o of o0 10, 300, 000[ 12 130, 000 2 32,000 3
mRIc—{E 140,000 3 30, 000 1 850,508| 2 900,000 20 529, 848 7 15,300,000 3
HEBUREOHE 215,000 4 32,000 2 20, 000 1 110,000 3 70, 000 2 70,000 2
TR - AL of o of o o o 484,035 3 446, 511 2 311,871 4
XALEB D of o of o of o0 10, 000 1 0 0 200,000 1
BEREOHE 45,000 1 of o 10, 000 1 50, 000 1 0 0 0 0
RAR—VEBOH#E of o of o 40,000 2 of o 0 0 0 0
ERXREEOEE of o of o of o of o 0 0 0 0
&&t| 475,000 13 62, 000 3 920, 508 6 11, 854, 035 40 1,176, 359 13 15,913, 871 13
FRR26FEE ER2VEE ERR28EE ER29EE T30 E SHTEE
HFEOEM &% (M) 8 £8E M) 8 =% (M) - Ex () 8 =% (M) 3 <% (M) 8
V= biahimEskE 1630000 5 105,000 7 105,000 7 201,350 9 75,000 6 53,000 4
mRIc— & 1650000 5 605000 9 540,000 6 535000 5 415,775 3 427,000 4
HEBEUBEOHEE 55,000 4 70,000 5 140,000 4 130,000 3 140,000 5 140,000 6
R E - RILHEE 127,181 1 36,786 2 5,000 1 100,000 1 0 0 0 0
ALEB D of o 8,000 1 of o 10,000 1 0 0 0 0
BEREOHE of o of o 50,000 2 of o 0 0 0 0
RR—YEENDHEE 0 0 0 0 0 0 0 0 250, 000 1 0 0
ERXREEOHEE of o of o of o of o 0 0 0 0
&5t 510,181 15 824,786 24 840, 000 20 976, 350 19 880, 775 15 620, 000 14
HH2EE
V= b hiEESE 3,912,000( 285
mRIC—{E 912,000 33
HRBEUBEOHE 950,000 38
R E - RILHEE 211,000, 16
XALEB DI 81,000 6
BEFEOHE 326,000 19
AR—VEBDHHE 164,000 13
EFRRREFROHLE 11,000 1
gi% :(';%2;'74 LA 134000| 7
gg—' :<I#§$JIL) DAL ea9000| 32
gi% i'é% vANR 406,000 18
Z0tth 68,000 4
At 9,124,000 472




